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Just ag > .
melting '¢C-cubes qg ot cause 8 glass of water to overflow, melting
no e

sea-ice does
not j 5 it ?
b increag, oceanic yolume. What type of argument is 1t 2

(A) Analogi
glc
. (B) Hypothet.ical

(&) Psychologicq] (D) Statistical

‘Sound is etern
_ al because jt i produced’ refers to which type of Hetvabhasa ?

(A) Badhita — A
iruddha

(C) Asid
ERER A\ SNyabhicara

3. NPTEL stands for :
(A) National Programme on Technology Enhanced Learning
(B) National Programme on Technology Enabled Learning
(C) National Programme on Technology Enhanced Lessons '3
(D) National Programme on Technology Embedded Lea.rning’lL

4, Video conferencing is an example of :

(A) Synchronous technology (B) Asynchronous technology

(C) Traditional technology (D) Modern technology
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5. Giv
en belo 2 tw
W are two statements : . .
- e r
vho uses netwo

Statement 7 . Netizen is 5 term used t© describe someone v
g M us

resources
tration of picture element.

Statem ¢
ement II : Quick response code refers to concen
nswer from

In the light of the above statements. choose the most appropriate a

the options given below :

(A) Both Statement I ang Statement II are correct

(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement I is correct

6. Which of the following pairs shown in internet service and its corresponding
p————"

protocol, correctly matched ?

(A) WWW-FTP _ Email-SMTP

(C) Email-ETP | /(@Fne Transfer-SMTP__~

7. Which of the following are web search engines ? 'y);f‘,
N

(1)  Duck Duck Go

@ Googler,””
\{.,}

(3) Yahoo Search\/
(4) Bing %\V’(}

(5) Pinterest
Choose the correct answer from the options given below

B, @), @), @) only ©

(A) (2), (3), (4) only |
(C) (2), (5) only 2( @ WY3), (4}, () only
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Secretay;
at .
( e of CQDVentiOn of Bjodjversity (CBD) is situated in :
A) M
ontrea], Canada @) New York, USA
(C) Gen ;
€va, Switzerlang (D) London, England

GI' EEnh(,u 8
e
Sases absorh the, radiatjon energy mostly in which of the following

oo 2s
€glon of gglar Spectrum ?

(A) X-Ra _

‘ g (B) Ultraviolet _/

(©) Infrared - :
ch of the following air pollulants causes acid rain ?

(1) Nitric Oxide

- (2) Nitrogen Oxide
(3)' Carbon Monoxide
(4)  Sulphur Dioxide % b
(5) Methane
Choose the correct answer from the options given below :

@) 1) @), 3 onl,x ®) @), @), @) onlx\/

(©) (2), (3), (4) only
tance that slows down the neutron to have controlled chain reaction

D) (8), 4), (5) oa}){

The subs

production is called :

(B)yInhibitor]

Reducer @\

during nuclear energy

? ®

A\

.2

%




12. p T i =
2. The period of Sendai framewor fop disaster risk reduction 15 =
(A) 2015-2030 (B) 2020-2040
(©) 20152025 D) 2020-2030

13.  Which of the following is g characteristic related to Non-conventional

e

L=

learning ?
(A)  On-campus Education (B) - Fixed ecurriculum

e)QJ/IL@arnrzr centred education. (D) "Regular Attendance

14.  Which apex body coordinates and develops engineering education in

India ? Ve & ¥,
(A) NCTE b W
© uog o) IGNOUJ.‘\

15 The minimum degree qualification for teaching will be a 4-year integrated

B.Ed. degree by the year :

(A) 2025




16.

s , 77/28/BET—C

Which of the following are the goals of higher education in India ?

e

@  Access o
(5) Equity

(©)  Quality and Excellence /f

(@) Relevance |

(@)  Value based education v

) Compulsory and free education

Select the correct answer from the codes given below :
(A (@), ®) and @/

(B) (a), (®), (e} and (O

(C) (a), (), (c), (&) and (e) .~

D) (a), ), (), (d),

Which of the following statements are correct about distance education in

India ?
It lements formal education
(@) supp R A (@\ @,{;‘WL
() It reduces the cost of education S\p J QY
»
(¢) It replaces the formal educatfbn\// &{.-—B

It enhances access to education

(d)

Gelect the correct answer from the codes given below :

Codes :

A) (@, ®), @ and @ ®) @, and ( a;L

© (@), (b) and (c)% (D (b),—(c’)’ and (7/



18.

19,

20.

Tmm—r Flowers | Total Horticulture
Area
2005-06 |- 55 ] o 1| 187
2006-07 56 75 1
2007-08 . 58 78 2
2008-09 61 79 B
2009-10 - 43 79 _2'l

Read the table below and bageg on this table answer questions from 18 to 22 :
15 -

Areg undey Major Hﬂrticulture Crops (in lakh hectares)

Whi“'h of the following two years have recorded the highest rate of increase

in area under the total horticulture ?

(A) 2005-06 & 200607 (8) 200607 & 2008-09
(C) 2007-08 & 2008-09 (D) 2006-07 & 2007-08

Shares of .the area under flowers, vegetables and fruits in the area under _

totzﬂ ‘horticulture are respectively :
38 and 30 percent (B) 30, 38 and 1 percent

(D) 35, 36 and 2 percent




21. Find oyt

(B) Vegetables
(D) Total horticulture

22, What has been the share of area ypder fruits, vegetables and flowers in the

area undey total horticultyre in 2007-08 ?
(A) 53 Percent (B) 68 pereent
(C) 79 Percent (D) 100 percent

23.  From the following Jig( of learner characteristics; identify those which are

associated with field independent learners -

(1) Focuses on facts ang principles

@) Perceives global Aspects of conceptsiand materials

(3)  Prefers and Iikes lo compete, 5

(4) Can organize information by himselfherself

(5) Likes to cooperate

Choose_the correct answer from the options iven below -

HIMEXA

(A) (1), (2) and (3) only (B) (2), (3) and (4) only

(C) (1), (3) and (4) only D) (3), (4) and (5) only
4.  The purpose of formative evaluation is to -

(A) Grade students’ learning outcomes

(B) Accelerate students’ learning performance
(C) Check students’ performance graph

(D) Provide feedback to teacher effectiveness

———
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25.

26.

27.

28.

T —

‘ i - .
Vhich of the following set of Statomen (s best represents the nature and objective

of teaching and leaming 9

(1) Teaching is like e]lmg and Jearning is like buying

(2) Teaching is 4 social act while learning is a personal act

(3}<' Teaching implies learnmg whereas learning does not 1mply teaching

4) x Teaching is a kind of delivery of knowledge while learning is like refmwng it.

Codes :
(A) (1), (3) and (4)555 - @ @), @ axi (4) only 1
(C) (1), (2) and (ley D)_ (1), (2)and (4) only ”

Which of the following is devoted to telecasting high quality educational
prOgrammes over TV ?

(A) SWAYAM
(C) MOOCs

-

i) SWAYAM PRABHA
(D) MOODLE

Which of the fo]]owmg factors LEAST affects learning ?
g
(A) Instructional Material / @"&‘y/

(B) Prior Ex-peﬁences of Learners
@/BocimEWDOMG Status of Family

of Learners

(D) Emotiona 1
b et ar Sehenrohs ethice may be considered pertinent at which stage of

research ? . /
(A) At the stage of problem formulation and its definition /

16
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29, i
Which of the following is NOT 4 characteristic of Experimental Research ?
(A) Observation (B) Control
(C)  Manipulation (D) Content Analysis

30. i ; :
Which Séquence of activities best Presents the cyclic nature of action research

methodology ?

(A) Plan, Act, Observe, Reflect

(B) Observe, Act, Reflect, Plan

(C) Act, Plan, Observe, Reflect

(D) Reflect, Observe, Plan, Act
31.  Which of the following is NOT the_gi‘iticai-"'feature of qualitative research ?

(A) Actual settings are the dn'ect source of data

(B) Data take tha{%of ‘words or.pictures

(C) Se\elﬁng*'ﬁb eﬁbabhsh relationships among measured social facts

' Researcher becomes immersed in the situation, present or past related

D"

to the phenomena

If a teacher wants to test th¢ effectiveness of a new teaching method, say

32.



and the absence of bigotry and institutionalize
resources, are two very different features which link

tradition with the essence of all Utopians.
» Indian State ?

Which of the following is a special featur® of th
r a common system of leadership
¢ historical provenan

d political sense

33.

(A) Peaceful co-existence of people unde
ces

(B) Peaceful co-existence of social groups of differen
attached to each other in a geographical, economic an

(C) Social integration of all groups
(D) Cultural assimilation of all social groups

The author uses the word ‘State’ to highlight :

34.
and the individual throughout

(A) Antagonistic relationship between the state

the period of history
(B) <Absence of conflict between the state and the individuals upto a point

in time

(C) The concept of state sovereignty

(D) Dependence on réli_gion
35.  Which one is the peculiar feature of modern Indian ‘Secularism’ ?

(A) No discrimination on religious considerations

(B) Total indifference to religion'

(¢) No space for 'sOCial'-'ident_i't.}.r.-

(D) Disr’eg‘ard for. soéial law :

TBC : 77/2?BET~C
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36.  The basic construction of Thomag More's Utopia was inspired by :

(A)  Indian tradition of religious tolepance
(B) Persecution of religious Broups by Indian rulers

(C)  Social inequality in India

(D) European perception of Indian State
37. . What is the striking feature of modern India ?
(A) A replica of Utopian State
(B) Uniform laws
(C) Adherence to traditional values
(D) Absence of Bigot
=

38.. ( Break-down in)verbal communication is described as :

(A) Short circuit ' (B) Contradiction

39 Assertion (A) : Formal communication tends to be fast and flexible.

R n (R) : Formal communication is a systematic and orderly flow of
easo :

_ information.

th (A) and (R) are correct and (R) is correct explanation of (A)
Both (

is not correct explanation of (A)
MEESaAMist ( is ro
(B) Both (A) andkR |

3¢
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40. Match List-I with List-IT
List.I List-T!

C . .
Ommunication Barrjer Description

(@) Semantics i+ Lack of Physical clarity in channel

(b) Psychological 3 iiy Faulty Message

(€)  Personal : z) Poor Retention :

(d) Physical #w) Lack of time _ Y ' |
Choose the correct answer from the options given below :

@ @ @© @@
A & G G (iv)

G) G (i) @
© G @ G G

M @ @& G G

41. The communication among persons warkmg at dlﬂ'erent levels who have no

direct reporting relationship is ca]led
(A) Intrapersonal 'enmmunjca¥0n ) Upward commumcatmn

(C) Horizontal communication (D) Diagonal commumcatm

42. Ina cl&asroum, transfommg@nd non-verba _lgack mto message
\‘_____‘ > -
i

15 called .

(A) Decoding
(C) Feedback



44.  Thre :
e bells ring together at 8.9 AM gpg then they ring at an interval of 6
anc

min, 9 m; . :
min and 12 min I‘especti\’ely When will they ring together again ?

(A) 9:12
AN (B) 8:36 AM

(C) s:
il D) 9:48 AM

45. 1 . :
N a certain coding languagEMISw is written as'DGFLJRUQZ’, then

In the same code @_QM‘ETE{Y’ will be written as : & H

(4) HDPLFSY7) ®) PppEsxs

(C) HLDP‘iﬁsx @ |

46. A man sells an item at a loss of 40%. If the actual loss in rupees is 136,

f what is the actual cost of the item ?
- p Yo/ A

(A) Rs. 524 2@ ®) Rs. 272 %’1%
(C). Rs. 300 Q,W\F{%OW (D) Rs. 340 S

47. A group of 210 students appeared in some test. The mean of 1/3rd of students
is found to be 60. The mean of the remaining students }s found to be 78,
The mean of the whole group will be :
(A) 72 (B) 74
© 76 (D) 80
o g

TBC : L : _
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48.

49.

50.

-

TBC : 77/23/BET—C

Given below are two premises. Four conclusim‘s

premises in four codes. Select the code that stat€® the ¢

Premises :

() A‘lidsaintiare religious. (major) ﬁ 2

(i) Some honest persons are saints. (minor)

(A) All saints are honest. C~ K ( '

1 4

Codes : ) n

(B) Some saints are honest.

(C) Some honest persons are religious.

: religious persons are honest.

anas are accepted by Vaisheshika

philosophy ?

Which of the following pram
(1) Pratyaksa
(2) Anumana
(3) Sabda
(4)

(6) Anupalabdhi

Choose the correct answer from the options given below :
(A) (1) and (2) only (B) (3) and (4) only
(C) (5) and (6) only (D) (3) and (5) only
A deductive argument is, invalid if :

(A) Its premises and conclusion are all true

(B) Its premiseé and conclusion are all false

- (C) Its premises are all false but its conclusion is true

(D) Its premises are all true but its conclusion is false

1
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